Count in multiples of 25

Count up in multiples of 1000
from any number

Find 1000 more than a given
number

Find 1000 less than a given
number

Count up five steps of 25 from
0
300
150

Count up five steps of 50 from
0
125

Count up four steps of 1,000
from: 5,000

5,600

5,640
Count up three steps of
2000 from: 1,030

2,067

Find 1,000 more than:
2,345
4,567
1,034
900
&7

Find 1,000 less than:
7,654
4,321
2,100
1,987
1,000

Colin thinks that he is
counting in steps of 25.

25, 125, 225, 325

Explain why he is incorrect.

Colin thinks that he has
counted in steps of 2000.

2460, 2660, 2860, 3060

Explain why he is incorrect.

Colin thinks that 1,000
more than 4,017 is 4,117

Explain why he is incorrect.

Colin thinks that 1,000 less
than 3,456 is 4,456.

Explain why he is incorrect.

Always/Sometimes/Never
True

If you countin steps of 25
from zero, the numbers in
the sequence are multiples
of 50.

This sequence goes up

in multiples of 1,000. How
many different ways can it
be completed? Explain.

20000, 000, U001

Find the missing digits.
Solve it in several ways.

[Is[l6
is 1000 more than

L0400

How many different
ways can the problem
be solved if the digits 0-9
can only be used once?

Always/Sometimes/Never
True

1,000 less than a 4-digit
number is a 4-digit number.




